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SN FUSKD
M NASS Ma0d XNA(MISI/I=HEEE)
chel: =0 MEX| (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
==X 103,657,224 95,820,585 7,836,639
= 59,993, 148
J| 1,000,000
< 8,518,981
& 2,486,988
] 1,295,204
Al 30,362,903
MNASEE MEE XA (MIAEXN/DNZUESH) 13,820,514 13,205,972 614,542
= 8,781,386
< 779,197
o 475,618
Al 3,784,313
FOMET 13,820,514 13,205,972 614,542
= 8,781,386
< 779,197
o 475,618
Al 3,784,313
SXNEHX S 58,990 68,450 A 9,460
101 @14 dl 1,050 994 56
04 JIZHHZ2XNESE S 1,050 994 56
OMdBIZSES X 0IF ol2d]
38,8803 x3H +x32 +33] 1,050
201 Let249H| 17,800 17,656 144
01 At 22/l 17,800 17,656 144
O1.LEt==ZH| 9,500
-—SXAEHM det=FH| 7,000,000 7,000
“AFSI S XAIE HUA RMIE 2,500,000 2,500
O5.2 &l 6,300
e E-E IS IS (=N
7,000 5«15«12 6,300
O6.2xt=z 2,000
-Moll HIE2X =X Xt
500,000 x2CH 2 2,000
202 Od4dl 11,100 9,720 1,380
01 = LH 4 bl 11,100 9,720 1,380
OSXEM RFAAHI
60,0003 *5H +x3 «7 3] 6,300
Ok H&sl It 2 MIA=EXNAME EEME =
A 60,0003 «40H «2 4,800
203 YR =&l 9,000 10,000 A 1,000
03 Al Z=XH R =AH| 9,000 10,000 A 1,000
OFQMEBIY AMAD Y|
10,000, 0003 *90%<& 2> 9,000
301 LAz 15,040 20,080 25,040




SN FUSKD
M NASS Ma0d XNA(MISI/I=HEEE)
Chel: FOIME R (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MEIBEE 263 10,000 10,000 0
OSJA& X SEAZS 10,000, 000& 10,000
10 #AtAHIEAZ 5,040 10,080 A5,040
OMBI=XIEEos HdXAE AS
60,0003 «28H «3 5,040
307 21201 A 5,000 10,000 A5,000
10 A2l =S X2 X 5,000 10,000 A5,000
OAMII=XS & A 5,000,000 5,000
SS=ENEEMAML(ER) 36,180 40,336 N4,156
= 6,550
< 1,965
Al 27,665
201 Ler24] 11,974 16,130 N4,156
= 2,620
S 786
Al 8,568
01 At 2t 2l 11,974 16,130 N4,156
O1.9et=2Hl 6,934
“AtelZel &R 29 2 22l 6,934,000 6,934
= 1,530
< 459
Al 4,945
O2./&5u=Hl 3,360
—AtdlZel At WwsH &2 ¢l 3,360,000 3,360
= 751
< 225
Al 2,384
O3.249=¢% 1,680
-Atellsl o A 70,0003 *8H »32 1,680
= 339
< 102
Al 1,239
301 gt 4= 24,206 24,206 0
= 3,930
< 1,179
Al 19,097
01 M2I2EZE 5= 22,806 22,806 0
OAtedl 2tel At e 22,806
-&E & A 8,000,000 8,000
= 1,359
< 407
Al 6,234
-4 2 X &l 9,806,000 9,806
2 1,477
< 443
Al 7,886




SN FUSKD
HM: HASES MEOE XA (AIAEX /I ZNHESE)
ool EoIME R CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
-XE S WEEHH BX 5,000,000& 5,000
= 849
= 254
Al 3,897
10 HAFAHI B A2 1,400 1,400 0
OAMAEo=2d S4l 7,000& 20 103! 1,400
2 245
= 75
Al 1,080
X=X A HI A S A A 1,154,060 1,187,153 33,093
1w 475,618
Al 678,442
201 LBt | 27,313 25,946 1,367
01 AP 22| d| 26,718 25,946 772
O1.dbt=2H| 8,000
-S|UEXN KNI E Lt 2H| 5,000,000& 5,000
-S&Aldl 22l MIsel 10,000 x3008 3,000
03.2g8x4% 12,670
-FOAHA HdHUNE ZAIS
70,0003 x2H *x2 Al 2t %4 3] 1,120
XA EXNE M EAHLH 11,550
T HEHA 70,0002 x 15 53] 5,250
AR 70,000 x 152 63| 6,300
O5. 83 &H| 6,048
S|USAXNIAGY dL2FX 24
7,000 x6H x122 x12& 6,048
02 2% H| 595 0 595
O1. 22224 A 595
-LfEea 2703 %1 500 405
-S| 1,900& x100= 190
202 04| 10,080 9,000 1,080
01 2L I 10,080 9,000 1,080
Os|U=EXNXNE Hd2=X0H|
60,000 »6H *3 x6 3] 6,480
O2Z2 K& SIS X XA
60,000 x2H 32! x 103l 3,600
301 YerE A 77.960 76,560 1,400
09 2AUZ2LRIBAZ 64,680 64,680 0
O2A2228 =AlH|
7,000 35 22 x12& 64,680
10 HAFAHI B a2 13,280 11,880 1,400
Ool2& 2 NET-WORK & &3] 44|
60,000& x38% x2 ! 4,560




=
=
EZ MY T (MISX/IZHEEE)
=

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
OXAsISXE2AM EHA =0
60,000& 28X 1,680
Osds SX& us0dl 60,000& »50H 3,000
OMIISXNESNEIATEZRIA WSO
60,0003 «11H +43] 2,640
OMBZAEM 22U s|o84T 24
7,000& *50& 43 1,400
307 21201 A 1,034,907 1,075,647 240,740
im} 475,618
Al 559,289
05 BIZERIE 3 1,034,907 1,039,907 A5,000
OFZgAa =SR2 E=ArHI
15,000, 0003 *3H A 45,000
O AME=EI 2 29 (012) 989,907,000 989,907
i 475,618
Al 514,289
405 XHoHF S HI 3,800 0 3,800
01 AL EZFH S 3,800 0 3,800
OsSgad el 228 3,800
-A0tE TV 1,800,000& »1CH 1,800
-LES 2,000, 000 *1CH 2,000
NSASXNEAMSS XN (BEX) 56,000 49,000 7,000
< 6,000
Al 50,000
307 glz2+ol & 56,000 49,000 7,000
< 6,000
Al 50,000
10 A3l S X2 X 56,000 49,000 7,000
OXNYGAS=SXNE2AM KA 56,000,000 56,000
< 6,000
Al 50,000
A EX 2 SSMY(EX) 54,000 54,000 0
< 16,200
Al 37,800
307 21201 A 54,000 54,000 0
< 16,200
Al 37,800
05 RIZt2IEt = 54,000 54,000 0
OZg=X& Sttt X 54,000,000 54,000
< 16,200
Al 37,800
ASISXAIE SALR =2 (EX) 78,720 67,200 11,520
< 23,616
Al 55,104
307 glz2tol & 78,720 67,200 11,520




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

H

Al

23,616
55,104

10 Al SXI2X

OAt2ISXIAIE SAA =&

78,720,000

= M

78,720
78,720

23,616
55,104

67,200

11,520

At

AFANSSMYI A~

2
Ao
=0}
0
=
%0
T
k4

= W

295,972
147,986

44,396
103,590

287,845

8,127

= N H

295,972

147,986
44,396
103,590

287,845

8,127

04 JIZtNZ22XNSE+

=
OA=XNSEAMHA BERE

295,972,000

= HnH

295,972
295,972

147,986
44,396
103,590

287,845

8,127

P

= H

147,705

6,633
141,072

106,800

40,905

307 21201 A

= N

147,705

6,633
141,072

106,800

40,905

10 AFBISXIEX
30

OZ=0tztelAdl A&

1,593,500

Ry PEVED]

107,000 404 A 122

117,073,000&

H

Al

H

Al

= N

147,705

117,073

4,593
112,480

30,632
25,49
1,704
23,792
5,136

336
4,800

106,800

40,905

21

SEAXNIASE (Ex)

= N W

720,700
576,560

50,449
93,691

844,288

N 123,588

= M W

720,700
576,560
50,449
93,691

844,288

N 123,588

720,700,000

H

720,700
720,700
576,560

844,288

N 123,588




AN =S
M NASS Ma0d XNA(MISI/I=HEEE)
ool EoIME R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 50,449
Al 93,691
NE=EXN MU AETAIE (EX) 1,718,984 1,785,525 A 66,541
= 1,220,858
< 149,438
Al 348,688
307 glz2tol & 1,718,984 1,785,525 A 66,541
= 1,220,858
= 149,438
Al 348,688
10 AtSI =X 2 X 1,718,984 1,785,525 A 66,541
OX G Atal MHI A S XA 1,718,984,000& 1,718,984
= 1,220,858
< 149,438
Al 348,688
PNE-=DNE 14,264 58,220 AN 43,956
201 Let24d] 6,884 9,420 A 2,536
01 At 22l 6,884 9,420 A 2,536
O1.det=2Hl 4,000
-XHEXH det+=EH]| 4,000,000 4,000
O3.2d=¢ 1,540
SREIZEM Y HALY
70,0003 «11H %23 1,540
O5.2&Hl 1,344
“NEBNY ARET ZA
7,000 «2H +8L « 12 1,344
202 o4dl 1,080 3,600 A 2,520
01 = LH o4 1l 1,080 3,600 A 2,520
OXEX&d HRFEHYI
60,0003 x1H *x3 «63] 1,080
301 et d =S 6,300 10,200 A 3,900
10 AtAHIE A3 6,300 10,200 A 3,900
OX&80tY &I AHI2A(E)
60,000& *35H 13| 2,100
OXEALY SAMA F3E A0
60,0003 *70H « 1 4,200
ANEIZAL(EX) 6,638,973 6,642,039 A 3,066
= 5,218,233
< 284,148
Al 1,136,592
101 @144 dl 2,909,010 2,893,740 15,270
= 2,318,700
= 125,965
Al 464,345
04 JIZtHZ2XREES 2,909,010 2,893,740 15,270




SRAR
X ZH -
L= B

el

Off &t 24

=Yr
i

2

-ANEE JIERY3  2,613,665,0003%11.3%

2,613,665,000&

= MW

2,909,010

2,613,665
2,318,700
125,965
169,000
295,345

206 M= Hl

=z N W

150,000
117,900
6,405
25,695

150,000

01 M= 4l
OXgZZAMNY MEHl S

150,000, 000&

= M W

160,000
150,000

117,900
6,405
25,695

160,000

307 21201 &

= M W

3,579,963
2,781,633
161,778
646,552

3,598,299

A 18,336

10 AFBISXIE2X
x

X
OANFETUE MBI MHI ALY

el K22 ArY

3,579,963,000&

= Hn

3,579,963

3,579,963

2,781,633
151,778
646,552

3,598,299

N 18,336

ik
0%
nl
[y}
>
{0
H
o

= 0 W

499,269

390,292
34,713
74,264

474,607

24,662

= N H

499,269

390,292
34,713
74,264

474,607

24,662

499,269,000

= Hn A

499

499
390
34
74

,269

,269
,292

713
,264

474,607

24,662

= N H

545
381

55
108

544

,881
,591
072

492,042

53,502

307 glztol &

Z N W

545
381

55
108

544
881

,591
072

492,042

53,502

545

544

492,042

53,502




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

OXSTEHE 29 XIS (2MA)

545,544,000

= MW

545,544
381,881

55,591
108,072

12
pa}
B
[x
i
O
>
-
1+
00
Iz
b

= M

25,200

7,560
17,640

20,

160

5,040

307 21201 A

= M

25,200

7,560
17,640

20,

160

5,040

10 AFBIS X2 X

ONSA&HEH SAL = &

25,200,000&

= H

25,200

25,200

7,560
17,640

20,

160

5,040

Jt

A2HE S 0IAIE (2 X)

= MW

178,353
125,047
17,435
35,871

, 247

37,106

307 21201 &

= N W

178,353
125,047
17,435
35,871

, 247

37,106

10 At3l = X

2
OJMZHE S 0/ALY

178,353,000

= W

178,353

178,353
125,047
17,435
35,871

247

37,106

o

=z N H

554,763
439,601
34,550
80,612

436,

050

118,713

=z N H

554,763
439,601
34,550
80,612

436,

050

118,713

554,763,000&

= 0N

554,763

554,763

439,601
34,550
80,612

436,

050

118,713

= M

13,800

4,140
9,660

,000

1,800

307 21201 &

m

13,800
4,140

,000

1,800




SN Fo=NY
M HASE MEOE XN (MISN/IIZMSBLER)
el FOIME T (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 9,660
10 A3l S X2 = 13,800 12,000 1,800
O 2clArg sl K& (200 2)
13,800,000 13,800
< 4,140
Al 9,660
HASE FHESIMNEAML(EX) 48,000 48,000 0
< 14,400
Al 33,600
307 glz2tol & 48,000 48,000 0
< 14,400
Al 33,600
10 A3l S X2 X 48,000 48,000 0
OMASZE FHEZMEAML 48,000,000 48,000
< 14,400
Al 33,600
FAHS30(82)(EX) 250,000 350,000 100,000
= 200,000
< 17,500
Al 32,500
301 LA F 250,000 350,000 100,000
= 200,000
< 17,500
Al 32,500
01 MI2ZE 06z 250,000 350,000 A 100,000
OMASE FAHEESSW d=2lAtY
250,000,000 250,000
= 200,000
< 17,500
Al 32,500
HARHUBS AR 13,220 13,940 AT720
301 et A Z 11,760 12,480 AT20
01 AR 2Z A5l 3 3,000 3,000 0
ORYANE A2 20,0003 *50H 33| 3,000
10 #AtAHIZ &3 8,760 9,480 AT20
Ogled Xt Her bl 10,000& x10H «12& 1,200
OHAAZ A Fota otXZ
30,000 #3721 +x7 L «12& 7,560
307 21201 A 1,460 1,460 0
01 927 24| 1,460 1,460 0
ORESI =83 30,000& »30H 900
ORESK =4l 7,000 *40H »2A! 560
C=0ASTAERE(EX) 26,587 27,070 A 483
= 18,611
< 7,976




2 A
X H
S =
Sl

NEEEXEEE)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

307 glz2tol & 26,587 27,070 A 483
= 18,611
< 7,976

10 AtSI =X 2 X 26,587 27,070 A 483
OL=e=RAE 29l 26,587,000 26,587
= 18,611
< 7,976

A2l (BEx) 24,878 0 24,878
= 17,415
= 2,487
Al 4,976

307 21201 A 24,878 0 24,878
= 17,415
< 2,487
Al 4,976

10 A2l =S X2 X 24,878 0 24,878
OX<GXeHE X+HaAtel2el 24,878,000& 24,878
= 17,415
< 2,487
Al 4,976

Udg Ss HigEs AENA(ER) 38,352 0 38,352
= 38,352

101 144 dl 35,997 0 35,997
= 35,997

04 DI Z2XREES 35,997 0 35,997
OXHE XI& &g A 35,997
i rals] 2,080,000& x1H+123 24,960
= 24,960
—HEI2ZE 9,952% *1.5%26A| 2t 128 4,658
= 4,658
G PNE=I) SR = 9,952& «BAl 2t+10L 797
= 797
—EASH SE3 30,414,000& =8.3% 2,525
= 2,525
-AHEE JI2RE3 30,414,000& %10.05% 3,057
= 3,057

201 Let24d] 815 0 815
= 815

01 At 22l 815 0 815
O1. L Et==ZH| 127
“ANEES 127,000 127
=2 127
O3.2d=¢ 400
-A 2 S| 400,000 x1H x13] 400
= 400




SN FUSKD
M NASS Ma0d XNA(MISI/I=HEEE)
ool EoIME R CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ob5.= &l 288
-XNE XA SA 6,000 «4 128 288
= 288
202 Oddl 1,540 0 1,540
= 1,540
01 = LH o4 HI 1,540 0 1,540
OXEXdns 50| 100, 000& 12 100
= 100
ONgaag2d ol 20,0003 «63| x12& 1,440
2 1,440
= = M AHOH 600,000 0 600,000
401 Al HI K 201 I 600,000 0 600,000
01 A& HI 600,000 0 600,000
OLSZEAS=SXNZ AAERX (SR A 01
600,000,000 =14 600,000
SEAMEXN2 JsEZ 28,000 0 28,000
402 RI2HXt20l ™ 28,000 0 28,000
01 2I2tX2E X 28,000 0 28,000
OFEZZEAMIENZ AEF E=3A
9,000,000& =14 9,000
OXSESEAS=ENNZ 24 XS &
15,000,000 * 14 15,000
OSUBEHABSNND 424 2122
4,000, 0003 =14 4,000
SOOI ZMEBH(ASSX/IZHEEE) 52,147,254 49,294,036 2,853,218
= 41,345,376
< 3,655,826
Al 7,146,052
HASHES Atsletd L e S 52,147,254 49,294,036 2,853,218
= 41,345,376
< 3,655,826
Al 7,146,052
HASES JI=dE BN 245,060 274,640 229,580
201 Let2d] 6,680 12,480 A5,800
01 At 22l 6,680 12,480 A5,800
O1.det=EHl 1,080
—MESE dbt=Z Y| 1,080, 000& 1,080
O3.2d=¢ 5,600
~MEBEESAAG AV BHLY
70,0003 «10H «823] 5,600
202 04 Hl 1,080 2,160 A 1,080
01 S LHOIYI 1,080 2,160 A 1,080




2N
X ZH -
L= B

el

=
k- 18 e
S e
R
O 0= &
> W

H

) - H2AY - BHES

=
i

2

60,000 «1H 3 »63]

1,080

237,300

260,000

A22,700

m

AW 2823

57,300,000&
250,000& 720

237,300

57,300

180

,000

260,000

A22,700

BEHENA(BX)

[und

Al

379

99
279

,350

675
675

352,560

26,790

H

Al

379

99
279

,350

675
675

352,560

26,790

L AIRLEER

379,350,000

Al

379

379

99
279

,350

,350

675
675

352,560

26,790

= M

119
35

,250
75

83,475

119,250

=

119,250

35,775
83,475

119,250

119,250,000&

= M

119,250
119,250

35,775
83,475

119,250

= N H

,289,303
,431,443
, 750,251
, 107,609

37,038,451

2,250,852

= N H

,289,303
,431,443
, 750,251
, 107,609

37,038,451

2,250,852

A dAH=A

39,289,303,000&

= W

,289,303

,289,303
,431,443
, 750,251
, 107,609

37,038,451

2,250,852

Z W

, 741,998
,993,598

611,940

, 136,460

8,227,148

514,850




2N
X ZH -
L= B

el

H
A

™ >
~
o

=
k- 18 e
S e
R
O 0= &
> e

0
02 fon

P

0z

Mgk

Yo i

o
O >

o

H
0z

x

!

CHE - EI(BA) - NRAY - BYS

Off &t 24

=
i

2

= Hn W

8,741,998

6,993,598
611,940
1,136,460

8,227,148

514,850

Al

Hado
8,

741,998,000

= H W

8,741,998

8,741,998
6,993,598

611,940
1,136,460

8,227,148

514,850

S
B
il
H
P

= MW

1,506,132
1,204,906
105,429
195,797

1,587,364

N81,232

= MW

1,506,132
1,204,906
105,429
195,797

1,587,364

N 81,232

1,506, 132,000&

= M W

1,506,132

1,506,132
1,204,906
105,429
195,797

1,587,364

N81,232

H

1,112,500
1,112,500

1,114,377

N1,877

H

1,112,500
1,112,500

1,114,377

N 1,877

1,112,500, 000&

W

1,112,500

1,112,500
1,112,500

1,114,377

N1,877

= W

386,590
309,272
27,061
50,257

336, 144

50,446

= W

386,590
309,272
27,061
50,257

336, 144

50,446

386,590,000&

= W

386,590

386,590
309,272
27,061
50,257

336, 144

50,446

o

367,071

293,657
25,695

244,102

122,969

w
|




SN FUSKD
H: 20IZMESH(MISEX/IZHEEE)
Eel: MASHEZ st e = (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 47,719
301 L2 A F 367,071 244,102 122,969
= 293,657
< 25,695
Al 47,719
01 MEIBZE 2053 367,071 244,102 122,969
O=0I=422&8+==T HaEH S0
367,071,000& 367,071
= 293,657
< 25,695
Al 47,719
A ESXNSA (A X /HLHESKA) 31,854,784 28,067,631 3,787,153
= 9,866,386
| 1,000,000
< 4,083,958
= 2,486,988
im} 819,586
Al 13,597,866
ZHA=EXAE JIs2E 4,313,822 3,826,897 486,925
= 527,223
| 1,000,000
< 243,958
& 40,000
Al 2,502,641
ZOHQIMEA LI SEBZ(EX) 665,768 988,624 A 322,856
= 332,884
< 99,865
Al 233,019
402 2I2H X201 M 665,768 988,624 A 322,856
= 332,884
= 99,865
Al 233,019
01 22t 2E X 665,768 988,624 A 322,856
OZ2H I8 (M Q2HiatCh oA A
A AEX) 35,000,000& » 14! 35,000
= 17,500
= 5,250
Al 12,250
Ogisd3sH(da&d 22)
30,000,000& » 14! 30,000
= 15,000
< 4,500
Al 10,500
OoggAdo F(Usx I8 55)
500,000,000 » 14! 500,000
= 250,000
< 75,000
Al 175,000
OO EHOAE & AHAE 78,768




2N
DRSNS (M EX/HSEAHSRE)

el

X ZH
S =

=e =X

FUA=SXAIE JIsES
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300,000
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12,000
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40,000
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40,000

12,000
28,000

40,000
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40,000,000& * 14!
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12,000
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=e =X

HH: HUHASXSA(AZSX/HAAHNSKH)
SRl FHUZTAIL JlsBY CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,051,570
01 A& HI 3,000,000 1,700,000 1,300,000
O=ERZMASE=SAZ M=
3,000,000,000& 14 3,000,000
J| 1,000,000
Al 2,000,000
02 2teldl 45,900 26,010 19,890
O ZMAsSE=EN2 &= 2l
3,000, 000,000 *1.53/100 45,900
03 Al S THHI 5,670 4,930 740
OSTHAZHSNZ AS A2
3,000,000, 0009 x0.27/100%70%< & 2> 5,670
S HEBMHAISE=ERNZ EF(EX) 133,500 700,000 A 566,500
< 63,500
& 40,000
Al 30,000
402 RI2EXt20l ™ 133,500 700,000 A 566,500
< 63,500
& 40,000
Al 30,000
01 RQIZEAI 22X 133,500 700,000 A 566,500
O oM ss=EI2 A8 L HII2(
or) 133,500,000 * 14 133,500
< 63,500
= 40,000
Al 30,000
ZONQIEHAAAM =T AHEE) 34,307 0 34,307
< 10,292
Al 24,015
307 21201 A 34,307 0 34,307
< 10,292
Al 24,015
10 A3l S X2 = 34,307 0 34,307
OHMHAEAIE H =X A 34,307,000 34,307
< 10,292
Al 24,015
ZOHA =X 13,881,449 12,286,407 1,595,042
= 114,400
< 2,630,033
=2 2,446,988
i 819,586
Al 7,870,442
WSAMD HoiX & AFE(EX) 58,000 25,000 33,000
< 12,500
Al 45,500
307 21201 A 58,000 25,000 33,000
< 12,500
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=e =X
ZHA=SXNSE(AMI=SX/HAAHNENE)
FOA=SX R

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 45,500
10 A3l S X2 = 58,000 25,000 33,000
OuLsS A0 Oioi X &g A 58,000,000 58,000
= 12,500
Al 45,500
SOSRALQASEXR(BE) 28,853 28,851 2
= 8,656
Al 20,197
307 gl2tol & 28,853 28,851 2
= 8,656
Al 20,197
10 A2l =S X2 X 28,853 28,851 2
Osllel S22 48RS 28,853,000& 28,853
= 8,656
Al 20,197
3 SHHH I (EX) 162,756 155,000 7,756
< 27,669
o 25,998
Al 109,089
307 212+0 & 162,756 155,000 7,756
= 27,669
o 25,998
Al 109,089
10 A3l =X 2 X 162,756 155,000 7,756
OxstEddH2Z(01Y) 162,756,000 162,756
< 27,669
im} 25,998
Al 109,089
ZOHI=XIXI& 1,124,888 1,125,260 AZ72
101 @124l 38,400 36,240 2,160
M4 JI2ZHZEXNSES 38,400 36,240 2,160
OFME s=8XA AM(oditel &#5) 38,400
sl 200,000& x20H x9 = 36,000
-28 ¥ 23l 120,000 x20H 2,400
201 Yete | 65,848 59,000 6.848
01 At 22l 64,840 59,000 5,840
O1.det==2Hl 12,900
-“ZOH=XNSE R LEL=EHI 2,000,000 2,000
“ZHeIXE MEFIPE OHUEX
200,000 =124 2,400
-Z0Hel s EXE 2
2,000& *2,5004 5,000
—ZOHeIFEXES 28 BER MH
2,000,000 2,000




SN ZU=XY
M MOHQISNEE(AS =X /HAHEX )

Sl OHOI =X X (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-HOHUEH S 23 AP HE MEH
30,000& 5074 1,500
O3.2d=¢ 5,740
HEX Mo9Y HALL
70,0003 «7& *102] 4,900
EOHOIA AOPY EAAY
70,0003 x6H +23] 840
O5.2 &l 4,200
“HOMHAYRFE OFL2ZRA =S4
7,0003 x5 «10L 128 4,200
06.9xt= 42,000
~ZOHCIEHH AtRA M2 42,000
A2 SOtEOHCIE F
1,300,000& 201 2«12 31,200
PNESE=3\| Relg="kc]| 200,000& x 101 2 =128 2,400
CEBHEOMCIE2 700,000 *1H A +128 8,400
02 =224l 1,008 0 1,008
O1.2Z22SZHA 1,008
-Zojel dEFI AVUEHE DANAMSE S
fEH= 1,008
2 gt 2703 <100+ 123 324
=Pl 1,900 x30= 122 684
202 o4dl 5,400 5,760 A 360
01 = LH o4 1l 5,400 5,760 A 360
OHM=X FR=T0HHI
60,0003 *5H 3 63 5,400
301 LEtE A= 38,340 56,660 A 18,320
01 MEIBZE 06z 15,240 29,240 214,000
OFMA=RAE A2 15,240
-ZHOR QI A & Al (9004 ) 20,000 *230 *33] 13,800
“HHL S MEIE (8 A)
20,0003 «24H «33] 1,440
10 #AtAHIE A3 12,300 27,420 A 15,120
O&Hel Zoe & Jiga &It ]
60,000& 40X 2,400
OEXZEO0I2 & JgdA It
60,000& »20H 1,200
OFMe M= L & JsBIIUE &FIHoibI
60,0003 «20H x4 4,800
OMEZS=2HEXNO OtetEHS &Il
60,000& »35H 2,100
OFOH CIHYW A M & HESWNE FIHH
=l 60,000& x5 300
OXZOHQIEHH L&A - SAEX AFF FHIHO Y]
60,000& »25H 1,500
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
12 JIEtEA 3 10,800 0 10,800
OO EYAE AAMBARI AHIEY
40,0003 *3¥ 903 10,800
307 2I2t0l A 966,900 937,600 29,300
05 RIZHRI &t 3 33,000 33,000 0
OFMWAZE=XR 0/S2S2XY 29
16,500, 000& »2CH 33,000
10 A3l S X2 = 933,900 904,600 29,300
OXZOMQIMEAS SHUYY X2 (el L Of
oIAlA) 1,500,000& *9IH 4 13,500
OHOMA=XEHAl 2SI 30,000,000& =2CH 60,000
OXNHZEOMA=SXES HE2Y
500,000& «1CH+122 6,000
O=s0telgs g 500,000& «2CH =128 12,000
OSZHMY 2230 29
17,500, 000& *2H A 35,000
OZESHASI ZUHAAE M
9,300,000 x63l 55,800
OFoee & 18 L AT AH (AT EA})
20,000, 000& 20,000
OFMHFAHEEH 29 42,000,000 * 101 & 42,000
OFOHQl LXrelAre (e124dl)
300,000 x 1408 «7 & 294,000
OMASHEOMC = - HIESAMLE 0l82 XA
50,000 x50 « 12 30,000
OZoel MEAL 2HH| 39,600
“JHel M E Al AL 1,250,000 *2J04 A« 12& 30,000
-F2UAESHH 800,000& »12& 9,600
OXOHEAM OlJtH 0l 2 18,000,000& »23] 36,000
OO MRA 2Zd XI& 45,000
—-ZHOH o1 EF Xl 500,000& 700 2= =128 42,000
-Zoe 223 250,000& 128 3,000
OunsSZHe HMEHAS=H 29 40,000,000& 40,000
OBATY L 5 S 4504 29
15,000,000& 15,000
OXMZOHQ Atslstw = 15,000,000& 15,000
OOAEM HNGuE(EME 23) 2
15,000,000 15,000
OFMHAEMSENON &&cldH 2¢
30,000,000& 30,000
OFMEE S =2E 2|
70,000,000 14 &~ 70,000
OO LTeIALS X2 (FHTA)
30,000,000 *20H A~ 60,000
401 Al BIZ 201 8] 10,000 30,000 A 20,000
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307 21201 &

2l

Al

515,040

128,760
386,280

480,400

34,640
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43,912
Al 112,914
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H

307 21201 & 156,826 138,629 18,197

43,912
Al 112,914

H

10 AFRIS X2 X 156,826 138,629 18,197
o M XJMH 22 (01Y)
156,826,000 156,826

43,912
Al 112,914

H

A2 EOe SSIAMH 2L (EX) 188,720 184,839 3,881

56,616
Al 132,104
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307 21201 & 188,720 184,839 3,881

56,616
Al 132,104
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10 AFBISXIE2X 188,720 184,839 3,881
OANLEMHASISTALEHSE 188,720,000 188,720

56,616
132,104
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1,195,386
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10 Al S X2 X 92,419 92,419 0
OXEOMC THIIE X ZEAHHE 29 (01)
92,419,000 92,419
o= 18,482
imi 46,723
Al 27,214
LOHQIFT2UHESAIE 2Y(EX) 523,752 427,626 96,126
& 119,080
im) 168,400
Al 236,272
307 giztol & 523,752 427,626 96, 126
== 119,080
im) 168,400
Al 236,272
10 Al S X2 X 523,752 427,626 96, 126
OZOHQl F2ABSAIE 29 (01 )
523,752,000& 523,752
& 119,080
imi 168,400
Al 236,272
QI IIESAIE 2Y(EX) 255,600 236,294 19,306
== 76,680
w 26,150
Al 152,770
307 QI2t0| ™ 255,600 236,294 19,306
= 76,680
w 26,150
Al 152,770
10 Al S X2 X 255,600 236,294 19,306
QTR SHIESAIE 29 (01)
255,600,000& 255,600
& 76,680
w 26,150
Al 152,770
oI ZSMEDIERYE(EX) 365,103 345,035 20,068
== 83,986
im) 40,000
Al 241,117
307 QI2t01 ™ 365,103 345,035 20,068
== 83,986
im) 40,000
Al 241,117
10 Al S X2 X 365,103 345,035 20,068
OXHQ ZSMEDIAE 2H(01)
365, 103,000& 365, 103
& 83,986
imi 40,000
Al 241,117
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< 7,500
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NEZOHQUXNKFMMHSA(BX) 106,664 100,000 6,664
= 26,666
Al 79,998
307 2izto| A 106,664 100,000 6,664
< 26,666
Al 79,998
10 Ml SXREX 106,664 100,000 6,664
OXNEEHQANEHME 2 106, 664,000 106,664
= 26,666
Al 79,998
CAZEHOIEXN2AR2IY(BEX) 800,000 800,000 0
= 560,000
Al 240,000
307 QI2t0| ™ 800,000 800,000 0
& 560,000
Al 240,000
05 QIZtREZ 800,000 800,000 0]
O AN2AFOQI=X2 2%  800,000,000% 800,000
< 560,000
Al 240,000
ZOHQIDIES AL 22l ALY (B X) 33,200 31,200 2,000
== 8,300
Al 24,900
307 2Iz2t0| & 33,200 31,200 2,000
& 8,300
Al 24,900
10 SIS XIEX 33,200 31,200 2,000
OHOMRIIIS At 22l ALY 33,200,000 33,200
= 8,300
Al 24,900
ZOHCIDIE X K/MH2IE (B X) 173,000 150,000 23,000
& 86,500
Al 86,500
307 giztol A 173,000 150,000 23,000
& 86,500
Al 86,500
10 Al SR EX 173,000 150,000 23,000
OIS AHEHS A 173,000,000 173,000
= 86,500
Al 86,500
OO AEHESERO2H(BEX 22,000 20,000 2,000
o= 5,500
Al 16,500
307 212t0| ™ 22,000 20,000 2,000
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MUE2E 4,914,000& 4,914
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O
O
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ZOHQIEHASHIXI R (B x) 9,407 8,567 840
7,526
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1,316

= MW

301 2EtE A= 9,407 8,567 840
7,526

565
1,316

= Hn

01 A2l 2&H =63 9,407 8,567 840
OH O Xt SHHI K| & 9,407,000& 9,407
7,526

565
1,316

= N H

S8 MAS AHEH XA (EXR) 21,671 25,947 N4,276
,502
15,169

= M
o

301 LEE A Z 21,671 25,947 N4, 276
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OS=stu MAS 2ESHI A& 21,671,000& 21,671
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AN =S
HF: HOL=EXNSE(AMISA/FHLHSKE)
CHel: HOHQI MEOtE X & (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ZOHAEERINA(EX) 14,749 6,163 8,586
= 11,797
< 886
Al 2,066
301 LEtE A= 14,749 6,163 8,586
= 11,797
< 886
Al 2,066
01 MEIBEZE 05z 14,749 6,163 8,586
OFMUAEBRI2UWE 14,749,000 14,749
= 11,797
= 886
Al 2,066
FHZRNAON=Z)NER) 1,095,840 1,545,562 AN449,722
= 655,089
< 84,226
Al 356,525
301 L2 AF 1,095,840 1,545,562 AN449,722
= 655,089
< 84,226
Al 356,525
01 MEIBEEE 263 1,095,840 1,545,562 N449,722
OFOMa= X2 (Jlx) 1,095, 840,000& 1,095,840
= 655,089
< 84,226
Al 356,525
ZOoH+E X (&) (EX) 925,165 535,778 389,387
= 647,615
< 83,265
Al 194,285
301 L2 A= 925,165 535,778 389,387
= 647,615
< 83,265
Al 194,285
01 MEI2EZE 406z 925,165 535,778 389,387
OZOM=Z X2 (X&) 925, 165,000 925,165
= 647,615
< 83,265
Al 194,285
HOHQICIZHIXNA(EX) 448,471 315,580 132,891
= 358,775
< 26,910
Al 62,786
301 L2 A F 448,471 315,580 132,891
= 358,775
< 26,910
Al 62,786
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SN FUSKD
HF: HOL=EXNSE(AMISA/FHLHSKE)
el mOjOIMEBOIET B CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MEIBEE 263 448,471 315,580 132,891
o&oerel=dl XI& 448,471,000& 448,471
2 358,775
< 26,910
Al 62,786
HOHISK LXK (EX) 351,648 210,270 141,378
= 175,824
< 52,747
Al 123,077
307 21201 A 351,648 210,270 141,378
2 175,824
= 52,747
Al 123,077
10 A2l =S X2 X 351,648 210,270 141,378
OFMA=RL Rl K& 351,648,000& 351,648
= 175,824
< 52,747
Al 123,077
SN R0 XA (B=X) 534,851 456,039 78,812
= 267,425
< 93,599
Al 173,827
101 @124 dl 534,851 456,039 78,812
2 267,425
< 93,599
Al 173,827
04 JIZHHZ22REES 534,851 456,039 78,812
OFHABZTROINAAY Q201 L 21
i 534,851,000& 534,851
= 267,425
< 93,599
Al 173,827
HHQUEESNA (RIIQY)(EX) 3,450,388 3,050,647 399,741
2 2,415,270
< 310,536
Al 724,582
307 glz2tol & 3,450,388 3,050,647 399,741
= 2,415,270
< 310,536
Al 724,582
10 A3 =X 2 X 3,450,388 3,050,647 399,741
OXHIESKA(EIRY)  3,450,388,000& 3,450,388
= 2,415,270
< 310,536
Al 724,582
ZHAHAI AR (EX) 5,684,850 4,948,607 736,243
= 3,979,395
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2N
X ZH -
L= B

el

Off &t 24

=

i
2m

=

—

409,309

,296,146

= M W

5,684,850
3,979,395

409,309

,296,146

4,948,607

736,243

& 5,684,850,000&

= W

w o o

,684,850
,684,850
,979,395

409,309

,296, 146

4,948,607

736,243

R
=)
ng
e
=
{0
H
A

= W

19,173
13,421
2,013
3,739

24,000

N4,827

307 21201 &

zZ W

19,173
13,421
2,013
3,739

24,000

N4,827

OAl - E2AFHARI2XE HAHLEXNH

19,173,000&

= N H

19,173

19,173
13,421
2,013
3,739

24,000

N4,827

0
2
e
e
on
T
iy
P}
40
T
iy

= M

102,415

30,725
71,690

102,415

307 glz2tol &

= H

102,415

30,725
71,690

102,415

HT
A
bal
{0

102,415,000&

= M

102,415
102,415

30,725
71,690

102,415

2
0x
0z
2
e
M
z
=
0K

XA (Ex)

= MW

10,000
7,000
900
2,100

10,000

307 21201 A

= W

10,000
7,000
900
2,100

10,000

10 AlBISXIE2X

OWdEMe S4&HIE XNAAE

10,000,000

o

10,000

10,000

7,000
900

10,000
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SN FUSKD
HF: HOL=EXNSE(AMISA/FHLHSKE)
Chel:r ROjQI MO & (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| Al 2,100
LI HEASAHAXAANG(EX) 5,900 0 5,900
= 4,720
< 354
Al 826
307 glz2+ol & 5,900 0 5,900
= 4,720
< 354
Al 826
10 A3 =X 2 X 5,900 0 5,900
OggZofe gd:=A MUIAXE 900,000 900
=2 720
= 54
Al 126
OggHMe A ABEH S
5,000,000 5,000
= 4,000
< 300
Al 700
oIS AAEXNA(BEX) 21,120 0 21,120
= 14,784
< 1,901
Al 4,435
307 21201 A 21,120 0 21,120
= 14,784
< 1,901
Al 4,435
10 A2l =S X2 X 21,120 0 21,120
OHMots22ael &S XA 21,120,000& 21,120
= 14,784
< 1,901
Al 4,435
HY2FZHI(F2US X ) (IIEH/IIEL) 74,394 73,970 424
Jl2ddl(=2=sX 1) 74,394 73,970 424
M2 6,174 11,030 A4,856
201 Let24d] 6,174 11,030 A 4,856
01 At 22/l 5,694 11,030 A5,336
ORN2Y el 4,110,000 4,110
OSAIl XS LSRN EH)
132,000 122 » 10K 1,584
02 =224l 480 0 480
ORN2Y 23R= 480,000& 480
AR FA NI 60,720 55,440 5,280
202 odl 60,720 55,440 5,280
01 = LH o4 1l 60,720 55,440 5,280
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2N F
X ZH . 3
L= B

o |
el J=23 (=

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFYSFAAHE 20,0003 23«11«12 60,720
R FAH 7,500 7,500 0
203 YR =2t 7,500 7,500 0
01 I 22g =8 3,300 3,300 0
OJZ22YELFIHI(2E) 3,300,000& 3,300
04 FEN2ELRZ=TH| 4,200 4,200 0
OFH2YLLETY (Z:23%)
350,000 = 12& 4,200
HReaS(FUSX) (MBS /IZHEEE) 5,760,278 5,178,976 581,302
HEAHHKI = 5,760,278 5,178,976 581,302
JIEtSIH MNES 5,760,278 5,178,976 581,302
701 JIEtSI HE &3 5,760,278 5,178,976 581,302
01 JIEtl AN ES 5,760,278 5,178,976 581,302
OY=2=SHEEINH BE=S 5,760,278,000& 5,760,278




